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What's the work done to move this charge from ito f?
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Object moving in a ur}i{orm gravitational field
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Point charge moving in
a uniform electric field
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(a) Positive charge moves in the direction of E: (b) Positive charge moves opposite E:

* Field does positive work on charge. * Field does negative work on charge.
» Udecreases. Y * Uincreases. y
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Fig.23.4

(a) Negative charge moves in the direction of E: (b) Negative charge moves opposite E:
» Field does negative work on charge.  Field does positive work on charge.
e Uincreases. B e U decreases. B
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A uniform electric field is directed in the -x direction. If
you were to move a positive charge in the +x
direction, how would the total genergy of the positive

charge / electric field sys
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How about this “V” thing?
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Point a (positive terminal)
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V., = 1.5 volts

Point b (negative terminal)

© 2012 Pearson Education, Inc.



Particle

Signal VvV = lsv

Vewm of & owws, kU = SOkel

Charged
cylindrical shell



Worksheet time:
Work done by an electric field...



What’s the work done to move this charge from ato b ?
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(a) ¢ and g have the same sign. U is always a relative thing:

U Energy Here vs. Energy there.
90

q qo0 q
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(b) ¢ and g, have opposite signs.
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U of q, when there are more charges?
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(a) A positive point charge

Vincreases
as you move®*
inward.

V decreases
7 as you move
outward.

(b) A negative point charge

V decreases
as you move
inward.

V increases
as you move
outward.
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What's V,,, from several point charges?
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U ot A Collogrion?
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